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(i) Q1 el Q4 el 8¢5 ual et welod Bl
(ii) Q5 §R%Wallcd U B,
Ql(a) w2l Reoel Aed 9 ? weell (st uwld W Ml YEL-
el Bl el Aestal. (8)
Qi(b) ollRAstl Yslloll wctiol cLul. (12)
(i) ol el HUBA uRell (a) EOQ (b) 5 s vil 2.

AsHo{l Wile (BHct : Rs.5000 WsH €ls

AsHoAl [Aettel vl : Rs. 300 WsH €ls €2 adl

82 Ysclloll WL : Rs. 10000 SR €16

AsHoll WO WAL : Rs. 800 WsH El6

s uial : 2000 WsHL.
(i) Ws el RS HidL 400 WsH B, Aol [Aetla W, cell eildsll
0% B i AR Hsclloll uRL Rs. 25 Uld 28R B. A el elldl, crdell
WRlElotl weall UR o{lA Yool AUR AW B,
el (Q) |eledl (Rs.)

0<Q<100 20
100 £Q <200 18
200<Q 16

Al el Breci 8 wedll oissl s
Q2 (a) ScllR (queue) ol Usl HHAA 4 m/m/1 H3A BHL sclRell coud
(queue length) Hallle dl Slal A AMesLal. (8)
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Q2 (b) Ws SlueNezct RIRHL As 3B B, ellselt AHaHl, 20 ass uld
SALS UHIOL olles A ® wa 3@ 24 ales yld sclsoll Ml Acl
A V. Al (m/m/1) WSl ettll 2 Al Yy (12)

() R S (idle) A Aol dettcto 0.

(if) UL S2Cl WSS HIowuLHL s ?

(iii) AULSH HLOVHALHL U J2Cl AHA oL ?
(iv) SR (queue) Hi U2 52Cit dlles! &9 ?
(v) RRHL 5 JUes sl doll Aeuastt 204

Q3 (a) sHclloll WA VA 9 ? Aol uReuadl seudl, - (8)
Q3 (b) 2@t Hallell UR MiI, Mil, Mill sMHL ol Aetl 81200 s2clet B. (12)
siadl  |1]2(314|5 |6
Hellet vl [8]3]72] 5|1
Hollet Mt {314(5(2| 1 |6
wollet i | 8|7]6]9(10]9

Al ul sl scil HERel BRdAH $H Ul ALl ool dH el
GuRld €35 Hllotoll stowet AH2A L.

Q4 (a) cllgotcuaslell MU AHBl Aof oulcts w3 vl (8)
Q4 (b) ollAsll clgatciasRoll UMRAULCA SR A G5 Andl. CGURd AYdH
clgotet il Wl . (12)
A8
X y z | yrdsl

Wl Al 5 | 2 | 8 | 150

WCloe B| 4 3 5 150

WGlea C| 2 | 4 | - | 200

Wllee D] 6 | 3 | 4 | 250

udol [ 250]200]175
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Q5 o{[Aett Ysllotl eltot dull. (818 Ul uidt) (10)
1. £0Q H3co{l 5165 UL ol 1Rl cul
2. 2R Asloll U Hicdl Sl AR E0Q HISEo] §& WRle] Y Gull.

sk Rtaidoll deel gugsell dlddl Axesial

4. scllRell RetlictHl AlHe A Asetl dlciclloll €R Aol Aallell €,
sl [AcdR0lol WA @ ?

5. gell AROWHL n sl WA AR Helletatow sHcttell AU n sl
ol A HelletHi 3l aslal.

6. sHclloll AUl wReu el

7. cllsot clalsle{l UHRAHL U(@Qd (unbalanced) AeA g ?

(78]

8. cllgel claslRell uHRRUHL (@5l (degeneracy) W@ ¢ ?
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ENGLISH VERSION

(i) Attempt Any two questions from Q1 to Q4.
(ii) Q5 is compulsory.
Q1 {(a) What is inventory control ? Explain clearly different costs that are involved
in inventory control. ) (8)
Qi1(b) Answer the following questions. (12)
(i) Consider the following data :

Unit purchase cost : Rs. 5000 per unit.

Carrying cost : Rs. 300 per unit per year.

Ordering cost : Rs. 10000 per order.

Stock-out cost : Rs. 800 per unit

Annual demand : 2000 unit.
Compute (a) EOQ (b) Overall annual cost.
(ii) Find the optimal order quantity for a product for which quantity discount

schedule is as foliows.

Quantity(Q) | Price (Rs.)

0<Q<100 20
100<Q <200 18
200<Q 16

The monthly demand for a product is 400 units. The storage cost is 20% of the
unit cost of the product and the cost of ordering is Rs. 25 per order.

Q2 (a) Explain the queuing problem. Explain m/m/1 model with finite queue
length. (8)

Q2 (b) A departmental store has a single cashier. During the rush hours customers

arrive at a rate of 20 customers per hour. The average number of customers that
can be served by the cashier is 24 per hour. Assuming that the conditions for use

of the single channel queuing model apply. (12)
(i) What is the probability that the cashier is idle ?
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(ii) What is the average number of customers in the queuing system ?
(iii) What is the average time a customer spends in the system.

(iv) What is the average number of customers in the queue ?

(v) Probability that there are 5 customers in the store ?

R &Sl e T 0 PO J R, o —— a s o e 2 o i
a) What is sequencing probiem ? State is assumptions (8)

&)
[63]

Q3 (b) Find the sequence that minimized the total time required for performing

jobs on three machines in the order Mi, Mii, Mli. (12)

Job 1123145
Machinel(Ml) |8317|2]| 5
Machine I {(MIl) {|3]4|5|2] 1
Machine 1 (MIll) | 8761|910
Also find the total time and the idle time for three machines.

LI |[= [

Q4 (a) Explain transportation problem and give its mathematical form. (8)

Q4 (b) Obtain an optimal solution of the following transportation problem. Also

obtain minimum transportation cost. (12)
Market
X v z | Supply
Plant A | 5 2 8 150
Plant B | 4 3 5 150
Plant C | 2 4 - 200
Plant D | 6 3 4 250
Demand | 250 { 200 | 175
Q5 Answer the following. (Any Five) (10)

Write any two assumption of EOQ model.

Give the formula for total cost in EOQ model when shortages are allowed.

What is traffic intensity in queuing theory ?

In queuing theory, the arrival rate and service rate generally follow which

distribution ?

5. When sequencing problem, of n jobs and 3 machines can be converted to n
jobs and 2 machines.

6. State assumptions of sequencing problem.

What is unbalanced transportation problem ?

8. What is degeneracy in transportation problem ?
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